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BACHELOR OF SCIENCE (B.Sc.) 
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LIFE SCIENCE 

LSE-07 : TAXONOMY AND EVOLUTION 

Time : 2 hours 	 Maximum Marks : 50 

Note : 	(i) 	Question No. 1 is compulsory. 
(ii) 	Attempt any four questions from question 

No. 2 to 6. 

1. 	(a) Fill in the blanks : 	 5x1=5 

(i) is a repository of dried 
plant specimens. 

(ii) 	 is the 1St National Park 
in India situated between Nanital and 
Gharwal districts of Uttranchal. 

(iii) 	 are information carrying 
molecules in plants. 

(iv) Absolute dating has become possible 
by the use of 	 

(v) The use of 	by taxonomists 
has made it possible to compare a 
large number of characters of many 
organisms with relative ease. 

LSE-07 	 1 	 P.T.O. 



(b) Define the following terms. 	 5x1=5 

(i) Flora 

(ii) Neotype 

(iii) Sympatric speciation 

(iv) Geological time scale 

(v) Biogenetic Law. 

	

2. 	(a) Explain the three types of species concept. 	5 

(b) With the help of suitable example explain 	5 
the co-evolution of prey- predators. 

	

3. 	(a) With the help of suitable examples explain 	5 
how embryological characters can be 

helpful in understanding taxonomic 

relationships. 

(b) Briefly explain the tenents of Darwin's 	5 
theory. Why has Drawin's original theory 

undergone modifications ? 

	

4. 	Define and differentiate between the following 

pairs of terms (any two differences for each pair). 

(a) Natural and Phylogenetic classification 	5 
(b) Homologous organs and Analogous organs. 	5 

5. (a) Describe two skills developed by 5 
Homoerectus that led to the development of 

socialising tendencies and family patterns. 

(b) What is Eugenics ? Mention the four ways 	5 
through which human genetic endowment 

may be improved. 
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6. Who proposed the 5-kingdom classification ? Name 10 
the five kingdoms mentioning the features on 
which classification into five kingdoms is based ? 
State four important characteristic features of any 
one kingdom. 
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(iv) 90-Tf-9 	4-114s+, 

(v) AIR' 317447 -f-i-zrq 
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